1. The vapor pressure of solid NaF varies with temperature as
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InP(atm) = —2.01InT +33.74  ¢hd -@

and the vapor pressure of liquid NaF varies with temperature as
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Calculate: (20)
a) The normal boiling temperature of NaF
b) The temperature and pressure at the triple point
c¢) The molar heat of evaporation of NaF at its normal boiling temperature
d) The molar heat of melting of NaF at the triple point
e) The difference between the Cp of liquid and solid NaF
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6. The followings are binary phase diagrams among three elements A, B, C, with melting point
of 1000, 1200 and 800K, respectively. Based on binary phase diagrams, sketch isothermal
sections of the A-B-C ternary phase diagram at 900, 700 and 400K. (20)
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